FoSHEZHXERABRASHER

A i 28118 %% B 7 28118 $%F
£ 5 RINDVETSURAT £ 15 RINADVEST S EBE
o :E:‘], 2§i\‘,€_|‘~ &8 %1, 28 E €11
&% R %3, 4, 5al& (K3 25 mE %3, 4, 55dA K6
%6, 7544 K15 %6, 75448 K18

RUF |F=LYAN THEE LFE) 794948 RUF |K=LY(N TFTHRE EFE) 7904948
kickoff 20-5-20% = $| | kickoff 20-5-20%> = aall
,%—1 Eit ,% 15 roiansc-a  #_EFC-A %1;\:@. 1K INHESC-A  tsistsc-8
Q9 :00[ 2 =Z%FSC-AY 8 — 0 KTFJISC |/MascB =#scas| |9 : 00| 5 HEYSC-A 9 — 5 FSC |MEFC swusm
smoxta| B ZFSC-AY soa| B #EYSC-A
9 :50| 8 ruEuscA g — 1 HEFC-A| AKTFIISC 9 : 50| 11 /IMESC-A 9 — t=bIirsc-B sESC
wmastal| & blEHSC-A | |E3xs| & INESC-A
10:40|14 /M8SCB 0 — 6 —3FSC-AG| #HEFC-A 10:40[ 17 WEFC 4 — ¥TFHiEE | f-51E4SC-B
F47E| E /MESC-B FA4RE| B mEFC
11:30[ 3 #&YSC-B 0 — 2 KTFIJISC| =FSC-AG 11:30] 6 #EFC-B 1 — NFESC X FBEKE
E5HA| B #HEYSC-B #EoRa| B 1 _EFC-B
12:20/ 9 ##)il[sc 1 — 5 #WEFC-A| XTFIISC 12:20| 12 Z—%FSC 14 — 0 #bld%uscB S FSC
FEoXa| & ##lIlsc f£oeixe| & Z¥ESC
13:10[15 *hJIIFC 4 — 3 —FSC-AG| #EFC-A 13:10]| 18 HEU 2 — ¥ FEBBRE | =54 sc-B
E7HE| B FJIIFC E7HE| B [ &U
14:00[20 £FpskE 0 — 1 /ESC | —FSc-AG 14:00]| 23 #HEFC-A 2 — ATJISC| £THBkMA
B & 2H11H
= 15 SHS5THYSVE

£1, 2848 BFFATOVY
=15 B %3, 45 BRECIOvy

%5, 6:E& ‘BFFBIAYVY
ROUF [h=LYAF TFTHRE LEFRE) 7o
kickoff 20-5-20% = il
=1Re = —%sc-A HJIIFC
9:00| 2 AEYSC 3 — 0 ZFSC—B| remsca HHFESC
g2 ® #eYSe
9:50|l8 Z#SC-A 1 — 2 HJIIFC | —%FSc—B
%3;1 & _,%_ :#SC—A
10:40| 14 #svi#wsc-A 5 — 0 4 FESC fiJI[FC
EARS a f=bIEHSC-A
11:30| 5 #siEwsc8 1 — 4 PMPEFC 5L\FSC
%5§Kﬁ = t=51E7:SC-B
12:20(11 #WEFC-B 1 — 6 #&JIISC PuEFC
woHE| & #LFC-8
13:10[17 =%sC 6 — 1 =%FSC-C| #JIscC
FIHE
14:00 -
E8HE
14:50 —




